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The following questions have been designed to test your knowledge of the chapter and prompt discussion. Please note that each question could have one or more correct answers.

7.1: Which two of the following attributes relate to the Project Life Cycle? (FMT2ed p.90)
a. The project is subdivided into phases.

b. Each phase produces a distinct deliverable.

c. Each phase repeats itself many times over the duration of the project.
d. Each phase subdivides the project into work packages.

7.1 Answer: A and B are correct. The life cycle subdivides the project into phases with a distinct deliverable. C is incorrect as the phases are not repeated, but sequential. D is incorrect as it is the WBS that subdivides the scope of work into work packages.  

7.2: Which two of the following examples relate to the classic four phase Project Life Cycle model? (FMT2ed p.90)
a. Initiate / Plan / Execute / Close.

b. Start / Design / Make / Commission.

c. Train / Operate / Sell / Accounts.

d. Identify Stakeholders / Determine Stakeholders’ needs / Communicate / Closeout Report.

7.2 Answer: A and B are correct. The first phase starts or initiates the project. The second phase produces detailed plans and designs for the project. The third phase makes or executes the project. The last phase commissions and closes out the project. C and D are incorrect as, although C and D are project activities, they are not the titles of the classic four phase model. 

7.3: Which two of the following outline the importance of measuring the Level of Effort? (FPM2ed p.90)
a. The level of effort is an indicator of the amount of work planned.

b. The level of effort is an indicator of the amount of sunk costs.
c. The level of effort is an indicator of the amount of work expended to timenow.

d. The level of effort is an indicator of the amount of work earned to timenow.

7.3 Answer: A and C are correct. B is incorrect as the level of effort is not an indicator of the amount of sunk costs. D is incorrect as the level of effort is usually a measurement of the man-hours expended not the man-hours earned.

7.4: Which three of the following relate to Project Phases? (FPM2ed p.93)
a. A project phase can be managed as a mini project.

b. A project phase produces a deliverable.

c. A project phase is named after the project.

d. A project phase is initiated by a phase charter.

7.4 Answer: A, B and D are correct. C is incorrect as each phase is usually named after the phase deliverable not the project.
7.5: Which two of the following relate to Fast-Tracking? (FPM2ed p.94)
a. A phase is fast-tracked when the following phase starts after the previous phase is complete.
b. A phase is fast-tracked when there is a delay between phases.
c. A phase is fast-tracked when there is an overlap between phases.
d. A phase is fast-tracked when the following phase starts before the previous phase is completely finished.
7.5 Answer: C and D are correct. A and B are incorrect.
7.6: Which three of the following relate to the ten phase Project Methodology? (FPM2ed p.100)
a. The strategy phases outline the corporate vision and values.
b. The strategy phases outline how to conduct the feasibility study.
c. The strategy phases outline how to quantify the corporate requirements.
d. The strategy phases produce the business case.
7.6 Answer: A, C and D are correct. B is incorrect as the feasibility study is part of the project phases.
7.7: Which two of the following outline the purpose of the Project Charter and the Project Closeout Report? (FPM2ed p.96)
a. The project phases are formally initiated by the project charter.

b. The project phases are formally closed by the project closeout report.
c. The project charter outlines how the company should conduct its business.
d. The project closeout report formally produces a profit and loss statement for the new venture.
7.7 Answer: A and B are correct. C is incorrect as the project charter is only concerned with the conduct of the project. D is incorrect as the project closeout report is produced before the operation phase and, therefore, would not know the future sales figures.
7.8: Which two of the following relate to the Project Life Cycle’s Level of Effort? (FPM2ed p.104)
a. The level of effort is presented as an S curve.
b. The level of effort is presented as a flow chart.
c. The level of effort is presented as a barchart.
d. The accumulated level of effort graph is usually shaped as an S curve.
7.8 Answer: A and D are correct. B and C are incorrect.
7.9: Which one of the following relates to the Project Life Cycle Costing? (FPM2ed p.106)
a. The breakeven point is midway through the project’s cash flow.
b. The breakeven point is before the payback period.
c. The breakeven point is the same as the payback period.
d. The breakeven point is after the payback period.
7.9 Answer: C is correct. A, B and D are incorrect.
7.10: Which one of the following relates the Fixed Price Contract to the Project Life Cycle? (FPM2ed p.108)
a. The fixed price contract includes the feasibility phase, design phase and execution phase.
b. The fixed price contract includes the execution phase and the handover phase.
c. The fixed price contract includes only the execution phase.
d. The fixed price contract includes the feasibility phase and the operation phase.
7.10 Answer: C is correct. Fixed price contracts usually refer to the execution phase of the project, but it is possible that other items of work could be subcontracted as a fixed price contract. A, B and D are incorrect.
